Types of Cusp.

Two breaches of a curve has common largent at a cusp. There are five different ways in which the two breaches stand in relation to the common largent and the common normal as illustrated in the following diagrams.

Figure (b) single asp of Figure (d) Figure (C) Double cusp of second species Double Figure (e) Point of oscu-inflection.

In figure (a), the live branches lie on the same side of the common normal and on different sides of the langent. In figure (b) the live branches lie on the same vide of the normal and on the same side of langent. In figure (c) the live branches lie on different sides of the normal and on different sides of the langent. In figure (d) the live branches lie on different sides of the normal and and the same side of the langent. In figure (e) the two branches lie on different sides of the normal and one side they lie on the same and on the other on

opposité sides et the common langent. one branch has an inflection point at O.

A cusp is single or double according as the two branches lie on the same or different sides of the common normal. Also, it is of the first or 2nd species according as the branches lie on different or on the same side of the common laugent.

Mathematically

- 1) If cuspidal langents are y'=0 then solved the given eq for y neglecting y, y.
- 2) If roots are real for one sign of x, then cusp is single. 3) If roots are real for both signs of x than cusp is
- 4) If the roots are of opposite signs, then cusp is called first species.
- 5) If the roots are of same signs, then cusp is called and species.

How we can find out the langest at the origin. Assuge the given equation in descending powers of x and y and equale to zero. The lowest-degree lerons gives you the langart at the origin.

How to search for Singular Points Let an equation of a current be f(x,y) =0 slope of the langent of any point (x, y) on the curve is

For possible singular points put $f_{x}=0$, $f_{y}=0$ Singular points are the common points if In=0, 1y=0, f(x,y)=0

so that at a singular point the values of dy are the rooks of quadratic equation

 $f_{\gamma\gamma}\left(\frac{d\gamma}{dx}\right)^{2} + 2f_{\chi\gamma}\frac{d\gamma}{dx} + f_{\chi\chi} = 0 \qquad \left(f_{\gamma\chi} = f_{\chi\gamma}\right)$

In case fix, tay and fry are not all zero, the point (2,4) will a double point. It will be a node or a cusp or an isolated point according as the values of all are real and distinct; equal or imaginary, i.e. according as

i.e A point p(x)y) on a curve is a nodal, a cusp or on isolated pt. according as

(try) - fax try 10

where

$$f_{xy} = \frac{\partial}{\partial y} \left(\frac{\partial f}{\partial x} \right) = \frac{\partial^2 f}{\partial x \partial y}$$

$$f_{xy} = \frac{\partial^2 f}{\partial x^2} , f_{yy} = \frac{\partial^2 f}{\partial y^2}$$

If $f_{xx} = f_{xy} = f_{yy} = 0$, the point (x,y) will be a multiple point of order higher thou two.

```
Shahid Javed
                   Exercise 7.3
 Delimine the nature of the singular point (0,0) (1-4)
               (22+y2) = 4 a2xy
             (x+4) = 402 xy = 0
         Equale la zero The lowest degree lerms.
                     xy=0
             =) x=0 , y=0
     The largents at (0,0) are x=0, y=0 real and
  distinct.
     Origin is a node.
                 y2 (a2-x2) = x2 (b-x32
             y^2a^2-y^2x^2=x^2(b^2+x^2-2bx)
           a^{2}y^{2} - x^{2}y^{2} - b^{2}x^{2} - x^{4} + 2bx^{3} = 0
   For equalions of langents equals to zero the lowest
  degree lerons.
                  a2y2- 62x2 = 0
      1.6.
```

a 2 y = b x2 ay = + 6 x

y= + = x

. These langents are real disinet at the origin.

- Origin is a nocle.

(x+4)(2a-x)=b2x 20x2+ 20x2- 23- xy2- 62x =0

For equations of langents at the origin, Equating the lowest degree lerms la zero.

i.e. $-b^2x = 0$

Origin is a cusp.

 $\alpha^2(x^2-y^2) = x^2y^2$ Q.4. a(x-y1) - xy=0 For Equations of langents at the origin, Equating the lowest degree lerms to zero. a2(x2-y2)=0 x2-42=0 x2= y2 . These langents are real and distinct. : Origin is a node. Find the position and nature of the Multiple points on the given curres. (5-10) x2(x-4)+42=0 Let $f(x,y) = x^3 - x^2y + y^2$ Now $f_2 = 3x^2 - 2xy$ fy = -x2 +24 For possible singular points put tre=0 , fy =0 322-224=0 2(32-24)20 x=0, 3x-2y=0 x=0 , 3x22y - x2+24 =0 24= 22 when x = 0 7=0 possible singular point: (0,0) The point co,0) lie on the curve (0,0) is a singular point. MARINE CONTRACTOR SOUND OF THE

when 3x = 24 put in 3

```
\chi^2 = 3\chi = 0
       \chi(\chi-3)=0
        x=0, x=3
when x=0 put in @
                           when x=3 put in@
                                9 = 24
   point (0,0)
                                point. (3, 9/2)
Hence the possible Singular points are
             (0,0), (3, 9/2)
" Only (0,0) lie on the grew curve and or
    satisfy the given curve
  (0,0) is a singular point.
        1xx = 6x-24, fxx/
        tyy = 2
        fxy = -2x
        1xy/ = 0
        ( fxy) - fxx fy = (0) -(0)(2)
     => (0,0) is a cusp.
           y3 = n3 + and
   Let f(x,y) = y^3 - x^3 - ax^2
       f_{x} = -3x^{2} - 20x _______
       fy = 3y^2
      possible singular points put fx=0, fy=0
       - 3x2- 2a x=0
        x(-3x-2a)=0
       x = 0, 3x - 2a = 0
```

x=0, $x=-\frac{2\alpha}{3}$

```
3 /2=0
 3)=>
               Y=0
  Hence the possible singular points are: (0,0), (-20,0)
   : (0,0) only lie on the given curve
  : (0,0) is a singular point.
   Now 2)=) f_{xx} = -6x -2a, f_{xx}/= 3)=) f_{yy} = 6y f_{yy}/= 6y
   2) => fxy = 0
              fxy / = 0
           (txy)2- txx try = 0-1-2010)
        (0,0) is a cusp.
             x+y-2x3+3y=0
Q.7
            f(x,y) = x4+y3-2x3+3y2
            f_{x} = 4x^{3} - 6x^{2}
            1y = 3y2+64
 For possible singular points put 1x=0 and 1y=0
           4x3-6x2=0
 1)=>
             x2(4x4-60)=0
          => x2 =0 , 4x-6=0
             x = 0 , 4x = 6
              x=0, x=3/2
               3 y2 + 64 =0
  迎ンニ>
              34 ( 7+2)=0
             34=0, 4+2=0
               7=0, Y=-2
 Hence the possible Singular points are: (0,0), (0,-2), (3/2,0)
                                       (3/2, -2)
    (0,0) only satisfy the given
      (0,0) is a singular point.
   Now D => fxx = 12x2 - 12x , fxx / = 0
```

Now
$$0 \Rightarrow \int_{\pi\pi} = 6x + 4$$
 $f\gamma\gamma = -2$
 $f\pi\gamma = 2$
 $f\pi\gamma = 2$
 $(f\pi\gamma)^{1} - f\pi\pi f\gamma\gamma \leq 0$

At $(-1,-2)$

$$(2) - (6(-1)+4)(-2)$$

$$= (2)^{2} - (-6+4)(-2)$$

$$= (2)^{2} + (-2)(-2)$$

$$= 4 - 4 = 0$$

Hence $(-1,-2)$ is a cump.

Q. NO. 9. $(\partial\gamma+\pi+1)^{2} - 4(1-\pi)^{5} = 0$

Let $f(\pi)\gamma = (\partial\gamma+\pi+1) - 4(1-\pi)^{5}$
 $f_{\pi} = 2(2\gamma+\pi+1)(1) - 4 \cdot 5(1-\pi)^{5}(0-1)$
 $f_{\pi} = 2(2\gamma+\pi+1) + 20(1-\pi)^{5}$

and $f_{\gamma} = 2(2\gamma+\pi+1) + 20(1-\pi)^{5}$
 $f_{\gamma} = 4(2\gamma+\pi+1)$

Now put $f_{\pi} = 0$

$$= (2\gamma+\pi+1) + 10(1-\pi)^{5} = 0$$
 $(2\gamma+\pi+1) + 10(1-\pi)^{5} = 0$
 $(2\gamma+\pi+1) + 10(1-\pi)^{5} =$

dy = -2

7 = -1

```
so the possible Singular Point is
      (1, -1)
 : (1,-1) satisfies the given eq.
 : (1,-1) is a singular point.
         fay = 4
           txx = 2+80 (1-x) 3
    So (fuy (1,-1)) - (fxx(1,-1)] (fyy(1,-1))
        = 4 - [2+ B(1-1)][8]
          4-[2+0][8]
         = 4- (2)(8)
   Hence (1,-1) 11 a cusp.
Q.No.10. (42-02)3+ 24(2x+30)2=0
      let fex,y) = (y-a2) 3 + x4(2x+3a)2
           1x = 0 + 4x3(2x+3a)+x4(2)(2x+3a)(2)
           f_{x} = 4x^{3}(\partial x + 3a)^{2} + 4x^{4}(\partial x + 3a)
         14 = 3 (4 - a2)2(24) + 0
           dy = 6/(42-a2)2
   For passible singular pts.
        Put In = 0
     => 4x3(2x+3a)2+4x(2x+3a)=0
        4 x3/(2x+3a)2 + x(2x+3a)] =0
        4x3=0 , (2x+3a) 4 2 (2x+3a) =0
                   , (24+3e)[2x+3e+x]=0
           76<sup>3</sup>20
                  ,2x+3a=0, 3x+3c=0
           x = 0 , x = -a
```

Hence the possible singular pts. are (0,0), (0,e), (0,-a), $(-\frac{3a}{2},0)$, $(-\frac{3a}{2},2)$, $(-\frac{3a}{2},-a)$, (-a,0), (-a,a), (-a,-a).

: (0,a), (0,-a), (-3a,a), (-3a,-a) and (-a,0) nativity
The given eq.

i. The pts. (0,a), (0-a), (3e,a), (-3e,-a) and (-9,0) are the singular pts.

Now $f_{xy} = 0$ $f_{xy} = (2\pi^{2} + 4\pi^{3} \cdot 2(2\pi + 3e) \cdot 2 + 16\pi^{3}(2\pi + 3e) + 4\pi^{3} \cdot 2$ $= (2\pi^{2} + 16\pi^{3}(2\pi + 3e) + 16\pi^{3}(2\pi + 3e) + 8\pi^{4}$ $= (2\pi^{2} + 32\pi^{3}(2\pi + 3e) + 12\pi^{2}$ $= 8\pi^{4} + 32\pi^{3}(2\pi + 3e) + 12\pi^{2}$ $= 8\pi^{4} + 64\pi^{4} + 8\pi^{3}e + 12\pi^{2}$ $= 72\pi^{4} + 8\pi^{3}e + 12\pi^{2}$ $= 72\pi^{4} + 8\pi^{3}e + 12\pi^{2}$ $= 6(4^{2} - e^{2})^{2} + 264(4^{2} - e^{2})$ $= 6(4^{2} - e^{2})^{2} + 244(4^{2} - e^{2})$

(fuy) - fux fyy

At co, a).

= 0 - (0)(0) $f \times y = f_{y} f_{x} = f_{y} = 0$ $f(0, a) = 1/5 a \quad \text{Multiple pt. } Q \quad \text{order higher}$

then 2.

 $\frac{At(0,-a)}{=}$ $(f_{ny})^{2} - f_{nx} f_{yy}$

 $\frac{f_{xy} - f_{xx} = f_{yy} = 0}{(0, -a) \text{ is singular pt. of order higher than 2.}}$ $\frac{At \left(-\frac{3a}{2}, \pm a\right) \cdot (f_{xy})^{2} - f_{xx}f_{yy}$ $= 0 - \left[72(\frac{81}{8}a^{4}) + 96\left(-\frac{3a}{2}\right)^{3}a + 12\left(-\frac{3a}{2}\right)^{2}\right] \left[6\left(a^{2} - a^{2}\right)^{2}\right]$ $= 0 - \left[72\left(\frac{81}{8}a^{4}\right) + 96\left(-\frac{3a}{2}\right)^{3}a + 12\left(-\frac{3a}{2}\right)^{2}\right] \left[6\left(a^{2} - a^{2}\right)^{2}\right]$ $= 0 - \left[72\left(\frac{81}{8}a^{4}\right) + 96\left(-\frac{3a}{2}\right)^{3}a + 12\left(-\frac{3a}{2}\right)^{2}\right]$ $= 0 - \left[72\left(\frac{81}{8}a^{4}\right) + 96\left(-\frac{3a}{2}\right)^{3}a + 12\left(-\frac{3a}{2}\right)^{2}\right]$

 $=) \left(-\frac{3a}{2}, \pm a\right) ib \ a \ cusp.$

 $\frac{At (-a,0)}{=} (f_{24})^{2} - f_{xx} f_{yy}$ $= 0 - [72\epsilon a)^{4} + 96(-a)^{2} a + 12(-a)^{2}] \{6(0-a)^{2} + 24(0)(0-a)^{2}\}$ $= 0 - [72a^{4} - 96a^{4} + 12a^{2}] \{6a^{4} - 24a^{2}\}$ $= -[-24a^{4} + 12a^{2}] \{-18a^{2}\}$ $= [24a^{4} + 12a^{2}] \{18a^{2}\}$

thus (-9,0) is a node.

Q. NO. 11 Show that the origin to a node, a cusp or an indulated point on the curve

y'= an'+an' according as'a' is +ve, zero or negative respectively. Soln: For tangents at origin,

y = ant => Y = ± Na n

.. The langual's at (0,0) are real and distinct.

is The origion is a node when a is the.

The lawests will be coincident and real

and the langents will be imaginary it

```
Find equations of the langents at the multiple
points of the given curves (Prob: 12-13):
          24 402 204 4 40 24 3 c 4 c 20 - (1)
       let $x,7) = x4-4ax3-2ay3+4a2x+3a2y-a4
           1x2 4x3-120x - 180°x
            fy = - bay + bay
   For possible Multiple pts.
    put fx=0
        => 4n^3-12n^2+8a^2x=0
           x (4n2-12an+8a)=0
       =) n=0, 4x2-120x+802=0
                   22- 30x + 2a=0
                    x2-20n-an+20=0
                    x(x-2a) - a(x-2a) 20
                   (x-a) (x-2a) =0
                   s) x=a, 2a
    So x=0, a, 2a.
   Now put fy =0
          => - bay + 6ay =0
             - ay + a 2 y=0
             -42+a4=0
              7 (-7+9)=0
         =) 7=0, -7+2=0
           y=0, =) y=a
         So y=0, y=a.
Hence the possible Multiple Points are
     (0,0),(0,a), (a,0),(a,a), (2a,0), (2a,a)
 .. Only (0,0), (0,0), (20,0) satisfying the given
(0,a), (a,0), (2a,a) are the Multiple pts.
Now for Langarlo at (0,a) Shifting the origin
 at (o,a)
         For this x = X+h ad x = Y+ k.
```

```
x= X+0, y= x+a
  Put in (1), we have
        X^{4} - 4aX^{3} - 2a(Y+a)^{3} + 4a^{4}X^{4} + 3a(Y+a)^{2} - a^{4} = 0
  X-40X3-20(Y+a3+3Ya+3Ya+3Ya2)+401X2+301(Y+a+20X)-0=0
  X - 4ax - 2ax - 2a - 6y a - 6/a + 4ax + 3a x + 3a + 60/- a = 0
  X-4ax3-2ay + 4at x2-3at y2 = 0
  x^4 - 4ax^3 - 2ay^3 + a^2(4x^2 - 3y^2) = 0
 For langents at origin equating the lowest degree
  lums to zero, we haver
               a^{2}(4x^{2}-3y^{2})=0
            => 4 X - 3 Y = 0
            => 3 Y^2 = 4 X^2
              y^2 = \frac{4}{3} x^2
                                              x=×+L→X=2h
                    Y = \pm \frac{2}{\sqrt{3}} X
                                              8= Y+R=>Y=y-R
which are the langents at vew origin.
Now the Langents at (0, a) are
              (y-a) = \pm \frac{2}{\sqrt{3}} (x-a)
              y-a=\pm\frac{a}{\pi}x.
Now for the langent's at (a,0) on the given
    curve shifting the origin of the curve
    at (0,0).
   For this put x= X+h, y= Y+k
               =) x= X+a, y= Y+0
                  n= X+a, y= Y.
 Put these values in (1), we have.
     (x+a)4-4a (x+a)3-2ax3+4a2 (x+a)+3a2x-a=0
x +4x 2 + 6x 2+4x 2 + 0 - 40 (x + e3 + 3x 2 + 3 x 2) - 20 y 3
                        4 a2/x2+ a2+2ax) + 3a2 y=a4=0
X +4x3a +6x2 +4x2 +9x-46x3-464-12x2-12x2-2ay3+42x2
```

+49+80/X+34Y-9=0

 $x^4-2x^2a^2-2ay+3ay=0$ $x^4-2ay^3-2x^2a^2+3y^2a=0$ For largents at new origin. Equating the lowest degree terms to zero $-2x^2a^2+3y^2a=0$ $3y^2=2x^2a$ $y^2=\frac{2a}{3}x^2$

Hence the equations of the langents at the Multiple point (2,0) are

 $(y-0) = \pm \sqrt{\frac{2a}{3}}(x-a)$ $y = \pm \sqrt{\frac{2a}{3}}(x-a)$

Now For langents at (2a, a) Shifting the origin at (2a, a).

So put x= X+h y= Y+R x= X+2a Y= Y+a

So 1)=) (X+2a)4-4a(X+2a)3-2a(Y+a)3+4a2(X+2a)+322(Y+a)2-24=0 after simplification.

 $\chi'' + a(4\chi^3 - 2\gamma') + a^{2}(4\chi^2 - 3\gamma'') = 0$ For langent's equating the lowest degree lerms to zero, we get.

 $a^{2}(4x^{2}-3y^{2})=0$ $4x^{2}-3y^{2}=0$ $3y^{2}=4x^{2}$ $y^{2}=4x^{2}$

 $Y = \pm \frac{2}{\sqrt{3}} X$

Hence the largents at (2a, a) are $(y-a) = \pm \frac{a}{\sqrt{3}}(x-2a)$

```
Q.NO. 13
            (y-2) = x(x-1)2
            f(x,y) = x(x-1) - (y-2)
    Then
             fu = 2x (x-1) + (x-1)
             f_{y} = -2(y-2)
 For Multiplue points put fx=0 cd fy=0
            2x(x-1) +(x+)=0
   fu =0 =>
            8x2-2x+x2+1-2x=0
           Bx-4x+1=0
            3x2 - 3x - X +1=0
        こ)
              32(2-1) - 1(2-1)=0
             (3x - 1)(x - 1) = 0
               x=1, 1/3
              -2(4-2) = 0
   1y=0 =>
               y-2=0
So the passible Multiple Points are
        (1,2) and (1/3, 2) and (1,2) is the Only Singular Pt.
Tangents at (1,2):
  Shifting the origin at (1,2)

Put x = X+h, y = Y+k
          2 = X+1 , y = X+2
       ( /42-2) = ( X+1) ( X+1-1)
         Y' = (X+1) X'
         Y^2 = X^3 + X^2
         => X3+X2-Y=0
    Equating to zero the lowest degree terms x^2-y^2=0
           X = X,
           =) Y = f X
          (y-2) = ± (x-1)
           7-2= K-1 , 12= - (21-1)
          [x-y+1=0] , /x+y-3=0/
```

Find the nature of the cusps on the given curves (problem \$ 14-217):

x3 (x-y) + y = 0

The curve has concident tempents

at the origin. Hence the origin is a cusp ad the branches of the curve through it are real. The equation of the curve can be written as $y^{2} - x^{2}y + x^{3} = 0$ $y = x^{2} \pm \sqrt{x^{4} - 4x^{3}}$

 $= \frac{x^2 \pm x \sqrt{x^2 - 4x}}{2}$

 $= \frac{\chi^2 \pm \chi \sqrt{\chi (\chi - 4)}}{2}$

The values of y are real only for negative values of a real origin.

Hence the origin is a cusp.

Also for any particular - ve value of x, y has opposite signs,

i.e. the curve exists on both sides of the X-axis, the cuspidal largent.

The cusp is of the first species. Hence the origin is a single cusp of the

first species.

x3+ y3- 2a y3 = 0 y = x + ax

Tangent at the origin are x=0 1.e. the curve has two coincident langent

at the origin. $a_{2} = y^{3}$

(Neglecting n')

```
or \chi^2 = \frac{y^3}{a} or \kappa = \pm y \sqrt{\frac{y}{a}}
   The values of x are real only for one sign of
   y, viz tue.
  Hence the origin is a single cusp.
Also, for any particular we value of x,y has
   opposite signs
     i.e. the curve exists on both sides of the
    y-axis,
    i.e. the cuspidal langent.
    So The cusp is of the first operies.
   Hence the origin is a single eusp of the
    first species.
                 x = ay x - a 3 x y + a y = 0
Q. NO. 16.
               x 6 ayx 4 - a x 2 y + a 4 y 2 2 0
        The langents at the origin one
      Hence the origin is a cusp.
               ay - ac n + a x ) y + x = 0
                y= a(x+ax)+/a(x+ax)-4 a4x6
                   a ( x + a x ) + Va = {( x 4 + a x ) - 4 a x }
                     az'(x+a) + la { d+2ax + ax - 4ax3
                   ax'(x'+a') 1 /a' (x'-a'x')
                     \frac{\alpha x^{2}(x^{2}+\alpha^{2}) \pm \alpha x^{2}(x^{2}-\alpha^{2})}{2^{-4}}
                     n^{2}((n^{2}+a^{2}) \pm (n^{2}-a^{2}))
                     \frac{x^4}{a^3} or \frac{x^2}{a}
```

The values of y are real and positive for both positive and negative values of x.

The curve enists on one side of n-axis.

This shows that the cusp is double of the second species.

No. 17. y3= (x-a) (2x-a)

 $\frac{Q \cdot No. 17}{86 \ln 1} \qquad y^{3} = (x-a)^{2} (2x-a)$

Shifting the origin (a, 0), equation (1) becomes

y= x(2x+a) _____ (2)

Tongents to 2) at the new origin at $n^2=0$ (equating to zero the lowest degree terms). Since the langents are coincident, the new origin is a cusp.

The branches of the curve through it being seal as shown below

From (a), neglecting $2x^3$, we get $ax^2 = y^3$ or $x = \pm \sqrt{\frac{y^3}{a}}$. The values of x are real only for one

Hence the new originis a single cusp.

Also for any particular positive value of y, x has opposite signs i.e., the curve enists on both sides of the new y-axis, the cuspidal langent.

The cusp is of the first species Hence the point (a,o) is a single cusp of the first species.